td (@+b-c)la-b+c) =

S

WOl do] g, b, coll o

—_—

T
o
o
L

<A

7F?



¥ -x2+2=a(x-p)2+b(x-p)?+c(x-p)7tx°l HeFs

HeE AFa+b+c+po #& F5H4A?

® -1 @1 ® -2 @ 2



% a4l £(x), g(x) o TSR £(x) +g(x) B v+ 1 2 LR Uiro]
"ol AT, f(x) - g(x) B x+1 & LHewl Ui 2)7} 201}, The (27
o T4 ZolA] x+ 1 & thro] Wol g B 12W?

@ x+ f(x) © x-g(x)
© x+ f(x)g(x)

ORQ) ONG) ® 90
@ 9,0 ® 0,00



]
=1

AEH 919
4 prtae

=
=

V-1

A o, (2 -3i)z7F A7t = A

LS
g

ot

&

I

°

P(a, b)

o

I

—_—

olp

@ 71=717}



5.

lx1(24+3)+2]yl(1-
(x, y) & FAH R oh=
@5 @ 6



ol

;!

a(1-1i)x* + (3+2ai)x+ (2a+3i) = 0°]

174

CEPER

o

xoll @3t o]

6.

sh?

q_

O
=

s

271 9]

® 3

1






1085
1015 4+ 105
e Fotu?

=kx10" (&, 0 <k <10, n2 #AA5) 2 vepd of, n 9]

O 72 @ 71 ® 70 @ 69 ® 68



O -3t 2ol tizhad o] Aelzh 301l A el7t 16, Fu]7} 69
A ATE k. o] AA L] 7h2, AR, #olE A a, b, Bt
S, a® + b3 + 3 O] g2

@® 12 @ 18 ® 21 @ 23 ® 30



10. xol gt bt f(x) & (x—1)? 02 W thpo] HolA] 1, x 41
2 WA Y27 40t} o] 1, f(x) B (x+ 1)(x - 1)2 22 U=
i, YHAE ax? + bx + c 2 SFH a+ b+ ¢ o] 42?

® -2 @ -1 ® 0 @ 1 ® 2



997 \3 ( 3
o =
1. E}‘NY(moo) *\ 1000
o 32 x 9977 ®
10
@ ¥ X997 © -

3
Rk

32 x 997°

10 o
32 x 997

10

2



—ﬂ—b+cm
a-b-c

a—-b+c
a+b+c

fol

ol a, b, c o i

3

N

94

g

249 A

]_

~H

o7k e ?



13.

& % oA A, B HhF5T} ol AN T, 44 a, b9 3L
+ abE T-5HA?
A=x—ax-2B=x>-2x2+bx+2

@® -3 @ -1 ® 0 @ 2 ® 4



14.

A fx) = 2 + 22 + px+ g5 FFAg(x) = —x* + 2x + ¢
2 R 9lE 1) RS R(x) 2 BHL, g(x) 9 R(x) 7hx - 172
TEATR 7MW, f(-1) +(2) ©] 2 T

®5 @4 B®-3 @®-2 @ O-1



15. A11% n ol toted i1+ i) o] ] A

AE A2?

4

O 18 @ 19 ® 20



